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CHAPTER 6 Functions
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The Natural Logarithm Function @)
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~ Problem Set 6.1

In Problems 3-14, find the indicated derivative (see Examples |
— and 2). Assume in each case that x is restricted so that In is defined.
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In Problems 31-34, find dv/dx by logarithmic differentiation (see
Example 8).
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In Problems 35-38, make use of the known graph of v = In x to
sketch the graphs of the equations.
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Problem Set 6.1

In Problems 3-14, find the indicated derivative (see Examples |
and 2). Assume in each case that x is restricted so that In is defined.
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In Problems 15-26, find the integrals
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In Problems 27-30, use Theorem A to write the expressions as the
logarithm of a single quantity.
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In Problems 31-34, find dv/dx by logarithmic differentiation (see
Example 8).
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